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Write the steps for biometric system from the beginning of enroliment phase until plotting the

ROC curve
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for a the given table taken from hand geometry Biometric experiment
A2 B2 c2 D2 E2

Al1]0,1213,74 | 1,52 | 3,31 | 4,31

BI | 3,81 0,08 | 0,97 3,00 [ 3,85
Cl1 1,53 | L21[ 098 [ 1,22]221

D1 | 3,24 | 3,00 | 0,99 | 0,25 | 3,45

.

-

[ El | 4,30 [ 3,65 [ 2,45 3,46 | 0,17

1) Calculate FMR if the threshold is set to 1.22. = 4/20z Vo = 002

2) If the FMR is wanted to be zero what is the most appropriate threshold and what is
’ Shew Revy2.

FNMR. Show your work.
N

Oq_';' = X 2 0.95

sy

>

C)‘b)’\’yg‘

The steps for a biometric system from enroliment to plotting the ROC
curve are:

1. **Enroliment Module**:
- Template is created and stored in database [1]

2. **Authentication Module**:
- Biometric data is checked against stored template [1]

3. **Performance Evaluation**:
- Calculate **False Match Rate (FMR)** [2]
- Calculate **False Non-Match Rate (FNMR)** (implied from FMR)
- Consider **Failure to Enroll Rate (FER)** [3]
- Probability that a person cannot enroll in the system
- Reasons: Person doesn't have biometric feature or has poor quality
feature
- Trade-off between FMR/FNMR and FER

4. **Plot ROC Curve**:
- ROC stands for Receiver Operating Characteristic [4]
- This curve likely plots the relationship between FMR and FNMR

Note: The document doesn't provide explicit details on plotting the ROC
curve, but it's typically used to visualize the trade-off between false
positive and false negative rates in biometric systems [4].
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Write a formula to calculate the FMNR ANF FMRV
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